LEPCHA
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Maximum Marks: 80
Time Allotted: Three Hours
Reading Time: Additional Fifteen Minutes

Instructions to Candidates

1. You are allowed an additional fifteen minutes for only reading the
question paper. '

2. You must NOT start writing during reading time.

3. This question paper has 10 printed pages.

4. It is divided into two sections: Section A and Section B.

5. It has twelve questions in all.

6. Section A has three questions. All questions are compulsory.

7. While attempting Multiple Choice Questions in Section A, you are
required to write only ONE option as the answer.

8. Section B has nine questions. You are required to attempt any four
questions in this section on the three prescribed textbooks.

9. The intended marks for questions are given in brackets [ ].

Instruction to Supervising Examiner

1. Kindly read aloud the Instructions given above to all the candidates
present in the examination hall.
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SECTION A
LANGUAGE - 40 MARKS

Question 1 . [15]

Write a composition in approximately 400 words in Lepcha on ahy one of the topics
given below.
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Question 2

Read the passage given below carefully and answer the questions that follow, using
your own words in Lepcha.
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Question 3

(A) Correct the following sentences and rewrite as per the instructions given:
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(B) Use the idioms in the sentences as per instructions given:
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SECTION B
LITERATURE - 40 MARKS

Answer four questzons from this section on the three prescrzbed textbooks.
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Question 5 [10]
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Question 8
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Question 11 [10]
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